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Test mi-session 1 MAT 2784 A Midterm 1
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Prof.: Rémi Vaillancourt

Instructions:

(a) A livre fermé. Tout type de calculatrices permis. 1 / 10
Closed book. Any type of calculators i is allowed. 2 / 10
(b) Répondre sur le questionnaire. 3 / 10
Answer on the question sheets.
(c) Les 6 questions sont d’égale valeur. 4 / 10
The 6 questions have the same value. 5 / 10
(d) Donner le détail de vos calculs.
Show all computation. 6 . / 10
(e) Un formulaire se trouve d la fin du questionnaire. Total /60
Formulae are at the end of the test sheets.

L’équation différentielle homogéne du 1er ordre, / The first-order homogeneous ODE,
M(z,y) dz+ N(z,y) dy =0,
admet le facteur d’intégration / admits the integrating factor
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Qu. 1. (a) Itérer 4 fois la récurrence de point fixe a 5 décimales prés. /
Iterate 4 times the fixed point %emurence‘ Use at least 5 decimals.

Tnt1 = 9(Ty), @ avec / with g(x) = ) + 2.

et calculer erreur si : / and compute the error if: p = g(p) = 2.690647.

T = 9,25 z,—p=0,56135
mp=|_2,U3339239| 29— p =0, 213234
zz=| 2,813 8 x5 —p=[0,1266H
zi=| 2,024 328U 3 24— p = -0, 060108
zs =|2.722900 zs —p =10.0322534

‘y=-10
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(b) Calculer / Compute

g (z5) = ~0,4945 ML |~ ¢(p) = —0.513369.

(c) Quel est Uordre p de convergence de la méthode ?
What is the order p of convergence of the method?

p=] 7 | 0<%y | <
L ovive A




Qu. 2. Résoudre. / Solve.

Y + 4y = 2cos z, y(0) =1, ¢'(0)= 0. v
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Qu. 3. Trouver la solution générale. / Find the general solution. /
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Qu. 4. Résoudre le probléme auz valeurs initiales.

Solve the initial value problem.
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Qu. 5. Trouver un facteur d’intégration, rendre ’équation différentielle exacte et résoudre
le probléme & valeur initiale.
Find an integration factor, make the differential equation exact and solve the init}'él value

problem. M f\’ J
(1 — 2%y) dz + xig% :fb) dy = 0, y(1) = 2.
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Qu. 6. (a) Soit / Consider f((E) =23 - 522+ 8z — 4.
Calculer / Compute
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(b) Quelle est la multiplicité m du 2éro x = 2 de f(z) ?
What is the multiplicity m of the zero z = 2 of f(z)?

m =

oL

(c) Itérer deux fois ¢ 6 décimales la méthode newtonienne modifiée avec m en (b) :
Iterate twice to § decimals Newton’s modified method with m in (b):

san:xn—m—J{%, To = 2.9.
n ‘ 2. .
V A= A b= 2\ 5P pp) 182y
. _[3GTTE4 )= 245 kg o 5) 18\
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(d) Quelle est Uordre de convergence p de la méthode en (c)?
What is the order of convergence p of the method in (c)?
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Integration
fuv'dx= uv —f u'vdx

n+i

j’x"dx=

n+1+c (n# -1

f%dx=lnb:}+c
fe“‘dx=-:—¢“+c
fsinxdx= ~-Cosx *+ ¢
jw&xdx=sinx+c
fumxdz= ~Injosx + ¢
fcolxdx=ln]sinx| +¢
fsecxdx = lnlsecx + tana + ¢
]cscxdx = Inlesex — cota] + ¢

f' & -l-arctanx+
*4+ad® a a- €

f dx . ,x+
— = arc sin— + ¢
V- 52 a
dx x
e = sinh™ = 4 ¢
‘f\/15+a5 a
f & W
e = gosh ™ = + ¢
Vx© = a a
fsinzxdx=§'x-—§sin2x+c
fcos’xdx=§x+{sin2x+c
fmnzxdx=lanx—x+c
fcot’xdx=~cotx—x+c
J-lnxdx=xlnx—x+c
[ sinbxax
40X
==!az+bz

fe“‘cosbxdx

X

=a—za-ﬁ(acmbx+bSbe)+c

Laplace Transform: General Formulas

-

Formula

Name, Comments

Fs) = 2(50) = f (0 de

J0) = ETHFE)

Definition of Transform

Inveese Transform

Elaf(n + bg(n] = aL{f(0} + b2(5(1))

Lincarity

Le™f()] = F(s - a)
2-YF(s ~a)) = e™f(1)

s-Shifting
(First Shifting Theorem)

{asinbx — becos bx) + ¢

2y') = sE() -~ fO
LY = L) - 510 - £10)
LYY = 5" = O - -
o= DGy

k 4 l .
.E{_Lf(r)d’r]=';-£(f)

Differentiation
of Function

Integration of Function

LU = a)u¢ — a)) = "> F(5)
LY e MF(s)} = f(t — adu{t — @)

1-Shifting
(Second Shifting Theorem)

LUfO) = ~F'@)
.e[@] = [roas

Differentiation of Transform

Integration of Transform

Ueexn= J:f(")s(' - ndr

= j‘ (it = ngln dr Convolution
@
2(f + g) = NLR)
( —""'—"""l . . .
=T J: e dt f Pesiodic with Period p

sinxsiny = ${=cos b + ¥) + cos Ut = y)]

cos x cos y = §fcos (r + ¥) + cos (& = y))

sinxcos y = Jlsin &x + y) + sin (x ~ y)]




